1.
There should be positive relationship between the education of father and the respondent’s education level because well-educated parents will be willing to get their children educated and is likely to have all the means to get their children educated. The criteria to assess causal relationship are:
· Empirical association (correlation) between the dependent and independent variable so we expect that the higher the fathers education the higher should be the respondent’s education.
· Temporal priority of independent variable: this means that the independent variable must precede the dependent variable. Since father’s education will likely precede the respondent’s education, this criterion is met.
· Non-spuriousness: this means that the association we observe between the father’s education and respondent’s education must not be due to a third unobserved factor that is driving both of them. In this case, the association is false. However, respondent’s and father’s education are likely to be directly related so that the association is likely to be non-spurious.
· Causal mechanism between father’s education and respondent’s education: this refers to the process that creates connection between the variation in father’s education and respondent’s education. For example, a well-educated father,  knows the value and returns to education will be encouraged to educate his child as much as possible, moreover, he is likely to have the resources necessary to fund the education. this mechanism explains the possibility of causal relationship between father’s education and respondent’s education.
2
The independent variable is paeduc and its label is Father's highest year of school. It is measured as the number of years the respondent’s father spent in school and it is measured on a continuous scale (ratio scale).
[bookmark: _GoBack]The dependent variable is educ and its label is highest year of school completed. It is measured as the number of years the respondent spent in school and it is measured on a continuous scale (ratio scale).
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To resolve the issue of missing variables, we recode the missing values in fathers highest year of school so that one number will represent the missing values using recode function. Then we use casewise omission on the missing values.
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	Statistics

	
	Father's highest year of school
	Highest year of school completed

	N
	Valid
	1067
	1470

	
	Missing
	406
	3

	Mean
	10.07
	12.36

	Std. Deviation
	4.079
	3.184

	Minimum
	0
	0

	Maximum
	20
	20




The average respondent’s year of education is 12.36 years with a standard deviation of 3.184, while the fathers’ average year of education is 10.07 with standard deviation of 4.079. Both respondents’ year of education and father’s year of education ranges between 0 and 20 years. 
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The histogram above shows that the father’s highest year of school is normally distributed
.
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The histogram above shows that the respondents’ highest year of school is normally distributed
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Graph
[image: ]

The scatter plot above plots the respondents’ year of education against their fathers’ year of education. we observe from the plot that there is positive linear relationship between the two variables. The correlation is around 0.48 which is a moderate relationship. There is no significant outlier in the data.
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	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	9.452
	.210
	
	45.050
	.000

	
	Father's highest year of school
	.347
	.019
	.482
	17.955
	.000

	a. Dependent Variable: Highest year of school completed



a. The slope is 0.347 while the y-intercept is 9.452. the slope value of 0.347 means that an additional year of father’s education increases respondents’ education by 0.347. The y-intercept value of 9.452 means that on average, respondent’s whose father did not attend school at all have approximately 9 years of education.
b. , where Y is respondents highest year of school completed and X is respondents fathers’ highest year of school completed.
c.   
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d. the average education predicted for respondents whose fathers had no years of education is 9.452 and each year of father’s education worth 0.347  on average in terms of respondents’ years of education


	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	9.452
	.000
	
	.
	.

	
	X
	.347
	.000
	1.000
	.
	.

	a. Dependent Variable: Y




e. the null and alternative hypothesis is stated as:


Calculate the test statistics

From the regression result, b=0.347, se =0.019. thus,

The critical value at 0.05 is 1.96. thus, since the t statistics (18.26) is greater than critical value (1.96) we reject the null hypothesis. Thus, we can conclude that father’s year of education is significant in explaining respondent’s year of schooling.
f. The R-squared is 0.233 which means that 23.3% of variation in respondents’ year of education is explained by father’s year of education

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.482a
	.233
	.232
	2.569

	a. Predictors: (Constant), Father's highest year of school
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	Correlations

	
	Father's highest year of school
	Highest year of school completed

	Father's highest year of school
	Pearson Correlation
	1
	.482**

	
	Sig. (2-tailed)
	
	.000

	
	N
	1067
	1066

	Highest year of school completed
	Pearson Correlation
	.482**
	1

	
	Sig. (2-tailed)
	.000
	

	
	N
	1066
	1470

	**. Correlation is significant at the 0.01 level (2-tailed).



The correlation coefficient is 0.482. The positive sign shows that the direction is positive linear relationship between respondents’ year of education and father’s year of education. for the size, the value of 0.482 shows that there is medium correlation between respondents’ year of education and father’s year of education. For the significance, p=0.000<0.05 which means there exists a significant positive medium correlation exists between respondents’ year of education and father’s year of education. we see that the correlation coefficient and standardized beta are the same
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